108.12.04 %= (F AR AR D)

108 = 4%

=)

108 X7 FERaE l

BRh £ %3R5 0Bk IF

—REEERIRE

o HWE
= T30 B RO R D

8/11 10 F* 00 4
(R=337mm ~ =12 nn

(7
e R8T
o’
st

(C1V160)

LR

AR E 300 mm)

108 #4145 %k -3 27RF T 003 || CEMMmEzE
SKEREME : & 29 K0E 1 B8 3.2k v K AR ﬁﬂ—r%ﬂﬂl&m%ﬁ%i&%ﬁﬁ
SSCESAERR D8 B 11 B 108 005 ARl T ERSR E
SEEED | BIBOP) BRI -
FEEEE 337 mm VSR | TR E S AR 400 11
e m AR T KR — A R 2 B AR -

- 45
12! %’ﬂ%‘%" A R o 0 B EPE & vIGEMET B2 R 11 EE 32k B AE

kE A BEREREA) 500 AR -

2019.08.11



